F26%E 10A13H JR A - B (1 BFRE(E)
(BT : A—FJL)
AN
B |XK=8 |[S@8 [EES FEE |OEGR | mEH |RE AR XM HE F#0 FHNE |k fEE
1/ 5 NE| 7 ENE|[ 1 S| 2 SE| 4 E| 2 NE| 6 NNE| 6 ENE| 4 E| 4 NNE| 4 N[ 8 ESE| 4 NE| 3 SE| 7 E
2| 6 NE| 7 ENE| 2 S| 2 SSE| 3 ENE| 2 6 NNE| 6 ENE| 4 ESE| 3 NNE| 4 N| 7 ESE| 6 NE| 3 SE|l 6 E
3] 6 NE| 8 ENE| 1 SW| 2 E| 4 E| 3 E| 6 NNE| 8 ENE| 3 ENE| 2 ENE| 3 NNW| 4 SE[ 3 E| 3 SE|l 4 E
4 7 NE| 8 ENE| 1 NE| 4 ENE[ 6 E| 2 Sw| 6 NE[ 7 NE| 3 SE| 1 ENE| 4 NNW| 4 ESE| 4 E| 2 ESE| 4 E
5| 6 NE| 6 NE| 5 NE| 7 NE| 4 E| 3 NNE| 8 NE[10 NE| 2 E| 1 NE| 4 N| 4 ESE| 3 E| 2 ESE| 6 E
6| 7 NE| 7 NE| 6 ENE| 6 ENE[ 9 E| 2 NE| 6 NNE[ 9 NE| 1 SSW| 1 WSW| 4 N[ 7 ESE| 3 ENE| 4 SE| 6 ESE
7 7 NE| 7 ENE| 7 NE| 5 ENE| 10 E| 4 NE| 6 NE[10 NE| 3 ESE| 1 SW| 3 NNW| 4 ESE| 4 SE| 4 SE| 7 ESE
8| 6 NE| 10 ENE| 6 NE[ 11 NE[ 10 E| 6 NE| 7 NE| 9 NE| 4 ESE| 1 NE| 5 N| 6 SE| 3 ENE| 3 ESE| 9 ESE
9| 6 NE| 10 ENE| 9 ENE[12 NE[ 8 E| 5 ENE| 8 NE| 4 ENE| 4 SE| 2 NNE| 3 NNW| 6 ESE[ 3 S| 4 ESE| 7 ESE
10 6 NE| 12 ENE| 10 ENE[ 13 NE[ 8 E| 3 SW/ 5 NE[10 NE| 6 ESE| 3 NNE| 4 NNW| 6 SE[ 3 N| 3 ESE| 8 SE
11| 5 ENE| 11 ENE| 11 NE[ 14 NE[ 7 E| 1 WSW| 5 NNE[10 NE| 4 ESE| 1 NNW| 5 N| 4 SE| 3 NNW| 3 ESE| 8 ESE
12| 5 ENE| 9 ENE[| 11 NE[13 NE| 5 ENE|] 3 NNW| 8 NNE[ 11 NE| 2 ENE| 2 ENE| 8 NNE| 4 E| 4 N| 3 ESE| 8 ESE
13] 6 NE| 7 NE| 8 NE[11 NE[ 3 E| 3 NNE| 10 NNE[ 15 NE| 1 NNW| 6 NNE| 6 NNE| 4 NE| 4 NE| 2 E| 8 E
14| 6 NE| 5 NE[10 NNE[12 NE| 2 NE| 6 NNE| 11 NNE[15 NE| 2 NE| 7 N| 6 NNE| 10 NNW| 6 N| 2 E| 3 ESE
15| 6 NE| 5 NNE| 11 NNE[ 11 NNE| 4 E| 5 N| 12 NNE| 14 NNE| 5 NNW| 6 NNW| 5 NNE| 6 N| 3 N| 3 WNW| 6 W
16/ 5 ENE| 3 N| 8 NNE| 9 NNE| 2 ENE[ 2 W[ 12 NNE| 14 NNE| 6 N| 7 N| 4 ESE| 9 NNW| 5 WNW| 4 WNW| 5 W
17 2 NNE| 3 WNW| 2 NNE| 6 N| 5 NW| 6 NNW| 12 NNw| 10 Nl 3 Nw| 7 NNW/ 10 N/ 7 NW[13 WNW| 6 W] 9 WNW
18
19
20
21
22
23
24
Ety| 6 7 6 8 6 3 8 10 3 3 5 6 4 3 7
BA| 7 NE[12 ENE[ 11 NE| 14 NE| 10 E| 6 NE[| 12 NNE[15 NE| 6 ESE| 7 N| 10 N| 10 NNW| 13 WNW| 6  W| 9 ESE
ACHF |46F 108 115 115 s 8B 150F 130 10FF 145 176 145 176 176 8hF




